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3. Pigpen code - decode the messages and write the letter above each symbol.
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4. Word Search - which word on the following list is NOT hidden in the puzzle?
NIMIUI|I [IRIE|JY|O[R|T|S |E |D[H]Y
VIX|M[P|Y [S|S|K[D|T]O[W[R|V]IR e rer
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COMMUNICATIONS
E[L[M|DIE [T [T [E|T [E[X]|T [S|O]E BATTERY
TIS|B|J|H|N|G[S|CIL]|L [M]|T |[D]X SEARCHLIGHT
TIFIJU[M|ID|UIH|HI|E|F|J |C|U|P|Z SECRET
AIM|IS[M|T IM|T|I |F|IX|O|R|R]|Z|C TRAWLER
BIL{VI|P|A[M|U|IP|T|T|E |R|CI|E]|S HISTORY
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VIB|B|G|O|C|E|M]|F |U|S [M|U]|U|D

Write your answer here




Harder Puzzles

5. Each letter in the alphabet corresponds to a number (A<>1, B<>2, etc.) - decode this message.
11 5516 / 2085 /81513 5/ 6 918 519 / 2 21 18 14 9 14 7

Solution

6. Reverse the alphabet (A<>Z, B<>Y, C<>X etc.) to decode these messages.

RGH Z OLMT DZB GL GRKKVIZIB

Solution

KZXP FK BLFI GILFYOVH RM BLFI LOW PRG YZT

Solution

7. Arrays of letters - count the number of letters, write them in a rectangular grid, ignore the “X.”

N|OW N X S Fill the grid vertically and you read it horizontally.
NXSOIEWXE X|1[X 0 1|E
S|E|E W X E Fill the grid horizontally and you read it vertically.

Now decode this longer message (use the working space below to write out the array.)
BCSXTNEARXFISDTUROOXXTIERNMFLSAXXAIEEDAGNRXRYCUNE

Solution

Working space for puzzles 5, 6 and 7

You can download this puzzle and submit your answers on www.nqght.org or complete this form and hand it in.
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